

TEL: 714-221-9800 FAX: 714-221-9838 WEB: WWW.wde.com

Division of Solid and Hazardous Waste

AUG - 5 2013 2013-004-801

July 31, 2013

Department of Environmental Quality Division of Solid and Hazardous Waste Attention: Scott Anderson, Director PO Box 144880 Salt Lake City, UT 84114-4880

Re: Utah Disposal of Electronic Waste 2012 Annual Report Utah State Bill 184 Section 19-6-1203

Dear Mr. Anderson:

Westinghouse Digital, LLC ("WD") respectfully submits its 2012 Annual Report in conformance with Utah State Bill 184, Section 19-6-1203. WD submits this report as a manufacturer of covered electronic devices sold in the State of Utah for the August 1, 2013 deadline. This report includes:

- -2012 Calendar Year sales for the State of Utah.
- -Methodology for calculating sales data.
- -Description of mail-back program.

Contact Information

Westinghouse Digital, LLC 500 N. State College Blvd., Suite 1300 Orange, CA 92868

Phone: 714-221-9800 ext. 205

Fax: 714-221-9838

Contact Person: Shelley Puente

Email Address: spuente@westinghousedigital.com

Number of Covered Electronic Devices Sold in Utah between 1/1/12 – 12/31/12

MODEL	QUANTITY	2012 Weight w/ Stand	TOTAL WEIGHT
CW24T9BW	4,900	12.3	60,270
CW24T9PW	2,785	12.3	34,256
CW26S3CW	30,145	14.82	446,749
CW37T6DW	4,100	28.7	117,670
CW39T8RW	16,312	29.5	481,204
CW40T2RW	61,701	31.54	1,946,050
CW40T6DW	29,830	31.54	940,838
CW40T8GW	37,704	31.54	1,189,184
CW46T6DW	4,950	46.2	228,690
CW46T9FW	28,200	46.2	1,302,840
CW50T9XW	28,580	46.5	1,328,970
CW50T9YW	28,561	46.5	1,328,087
EW19S4JW	15,598	6.17	96,240
EW24T3LW	21,376	9.4	200,934
EW24T7EW	39,333	9	353,997
EW24T8FW	34,988	9	314,892
EW32S3PW	59,726	15	895,890
EW32S5KW	48,606	14	680,484
EW32S5UW	56,754	15	851,310
EW37S5KW	29,944	21	628,824
EW39T4LZ	14,120	25.7	362,884
EW39T5KW	17,721	21.64	383,482
EW39T6MZ	16,433	25.7	422,328
EW40T2XW	11,117	33.4	371,308
EW40T4FW	17,974	29.41	528,615
EW46T4LZ	5,932	33.33	197,714
EW50T5KW	9,858	36	354,888
LD-2240	157,009	10	1,570,090
LD-2480	81,914	9	737,226
LD-2655VX	18	11.2	202
LD-2657DF	1	11.2	11
LD-2680	19	11.2	213
LD-2685VX	8	11.2	90
LD-3237	31,587	14.55	459,591
LD-3240	12,894	14.55	187,608

LD-3255VX	18	14.55	262
LD-3260	3,431	14.55	49,921
LD-3265	68,260	14.55	993,183
LD-3280	1,865	14.55	27,136
LD-4070Z	90	31.75	2,858
LD-4080	66	31.75	2,096
LD-4258	493	29.8	14,691
LD-4655VX	17,934	38.1	683,285
LD-4680	10,610	38.1	404,241
LD-4695	23,018	38.1	876,986
LD-5580Z	332	67	22,244
LTV-32W1	1	30	30
LTV-32W6 HD	1	30	30
SK-26H520S	1	23.6	24
SK-26H570D	4	23.6	94
SK-26H640G	8	16.3	130
SK-26H730S	19	236	4,484
SK-26H735S	2	23.6	47
SK-32H240S	1	32.6	33
SK-32H540S	9	32.6	293
SK-32H570D	9	34.4	310
SK-32H590D	2	34.4	69
SK-32H640G	1	24	24
TX-42F430S	1	60.6	61
TX-42F450S	10	60.6	606
TX-42F810G	4	36.5	146
TX-42F970Z	2	36.5	73
TX-47F430S	3	70.1	210
UW32S3PW	72,562	15.5	1,124,711
UW32SC1W	56,472	15.5	875,316
UW37SC1W	7,458	17.74	132,305
UW39T7HW	1,000	28.7	28,700
UW40T2BW	30,129	29.4	885,793
UW40T3PW	19,801	29.4	582,149
UW40T8LW	8,000	29.4	235,200
UW40TA2W	588	29.4	17,287
UW40TC1W	73,201	29.4	2,152,109
VR-2218	2,902	11.3	32,793
VR-2418	10,210	12.3	125,583
VR-2680DF	116	16.3	1,891
VR-3215	195	25	4,875

Grand Total	1,463,280		32,077,260
VR-5535Z	19,924	80.5	1,603,882
VR-5525Z	3,151	72.8	229,393
VR-4090	22,396	33.7	754,745
VR-4085DF	98	33.7	3,303
VR-4030	10,776	33.7	363,151
VR-4025	2,301	41	94,341
VR-3730	11,573	30	347,190
VR-3250DF-RE	675	25	16,875
VR-3250DF	121	25	3,025
VR-3236	14,927	25	373,175
VR-3235	1	25	25
VR-3225	90	25	2,250

Total Units Sold in Utah: 13,316 Total Pounds Sold in Utah: 291,903

Methodology Utilized by WD to Estimate Sales Data

The values above for the number of units sold in Utah was estimated based on sales data for the shipment of products from 1/1/2012 - 12/31/2012 in the United States multiplied by the population percentage of Utah relative to the United States total population according to 2012 Census Bureau data.

Description of Mail Back Program and Handling of Covered Electronic Devices

In accordance with Utah State Bill, Section 19-6-1203, Westinghouse Digital consumers have access to our free mail back program for televisions. Details and instructions are available at http://westinghousedigital.com/support/recycling-information/. In addition, WD provides information to consumers in multiple ways on how and where they should recycle covered electronic devices. A toll-free number is included in the documentation with each product for addressing any consumer inquiries including the proper handling and disposal of electronic waste.

The foregoing information constitutes the collective efforts of various employees and agents of Westinghouse Digital, LLC. Except for good faith estimates included in this report, it is hereby certified, under penalty of perjury under the laws of the State of California, that the information contained report is true and correct to best of my knowledge and belief.

Respectfully submitted,

WESTINGHOUSE DIGITAL, LLC

Shelley Puente, Finance/Accounting